HENEREREES ik
SM3FE1H158 (&)

6::550) (81 @ kg )
pE i miEH o2 = B Z B " =
S 19% RAIT 126.4 168
<IN 567.1 50 20
£S5 552.9 840 201
AABFHLA 94.3 479 59
JUH LA 889.9 680 20
LSHLA 147.2 350 23
FHHLA 231.3 388 30
TFELSHLA 392.9 856 109
=EAHLA 277.8 192 20
IALA 73.8 465 181
%55 288.8 180 20
2 R85 82.6 89 20
2OoF 309.8 193 20
<7+ 136.8 770 559
TIAYTAFA 43.3 201 80
F7>0 2,329.2 519 20
NIHZS 393.7 40 20
ZZF 346.7 232 20
AXHHT 102.5 660 20
ZILAA 202.4 603 103
ZILAA F5E 120.0 4,500 2,100 |50’ 2
UL 2,648.4 739 151
I 10,357.8




[B¥fa] (BT ¢ kg )

E i miEH B = = B Z B " =
S 19% 7 U JAE 340.0 4,400 2,200 |50’
> RUA 7 44.3 275 200
S 262.0 517 169
=247 108.6 639 190
vFESHT 890.5 250 20
AFF<3 320.7 1,129 900
CHEE 12,323.9




@:E3::) (BT : kg )
FRSETERE mig H = = 1B Z B fm &
BEERXFIE 88 |E=X 31.9 1,129 100
RAAIH LA 114.2 630 446
JUH LA 111.2 370 109
LZHLA 308.5 189 40
XAOLA 80.5 298 161
XA LA 283.7 366 89
<55 72.8 189 20
HFHS 359.3 52 20
>0OX/)VUlL 116.8 606 200
AXF 55.2 239 26
JdEHAN 101.7 59 20
TRORD 52.5 541 139
finERiE 12 AHITSITAH 531.9 800 600
BiE 4t IR S A 946.7 370 110
e 268 TISHATH 61.3 196 61
EXTYRS 295.7 90 50
TERAVHA 157.8 150 89

3,681.7




( B3I : kg )

E i miEH 2 (] (| m =
HE  19% <7Fd 149.9 1,200 1,000
EERFE 88% |ESX 1,098.0 1,200 800

bz 1% 170.0 500 200
<3BLA 367.0 300 150
<55 43.2 300 100
F7>37 72.4 450 200
o0V 46.2 400 100
AXF 158.2 300 200
=XH] 33.8 500
H0 428 ES % 303.8 1,300 600
he 26% <40 95.5 550
=X 108.6 500 250

T2

2,646.6




